Week 2 - Additional .answers/feedback to support with Maths

LO: I can read and serite numhers up
io .a thowsand.

Write these numbers in
numerals

I. Twenty Six - 26
2.Thirty Two - 32

3.Elexven - Il
4 _Si Seven - 67
5.Ei Five — 85

LO: I can read and mrite numhbers. up
io o thowsand

Write the Jluuawubg numbers
in w.ords.

e e
3.36 —{ﬂ—?gﬁf

LO: I can read and write numhbers up
to o thowsand.

I. Sewen hundred .and [ifty
sixk - 156
2. Nine hundred .and eleven -
q1
3. Fowr hundred .and sixty
- L6k
L. Five hundred .and two -
502
5. One thousand .one
hundred and bwenky two
- 122

LO: I can read and write. numhers. ap.
1o o thouwsand.

Write the [ollowing numhbers

AN WO,

I. 365 — three hundred .and
L Jive

2.968 - nine hundred .and

3.20 —ﬂb?}ﬁt}uuwmdmui
SeNen.

4.511 - five hundred and
eleven

5.1512 - ane thousand, [ive
hundred .and twelve



3.66 - 6 tens .and. 6
ones = 60 .and 6

LO: Im;rmgnimﬂnz‘plamxﬂhnzn;
ﬁfﬂ‘d“’ﬁm Lk, Nalicng 3

What does the 3 represent

numhers?

I. 320 - 3 hundreds =
300

2.236 - 3 tens = 30

3.123 - 3 ones = 3

L 533 - 3 tens .and 3
wones = 30 .and 3

51023 - 3 ones = 3

62031 - 3 dens = 30

I.26 - 2 lens .and 6
ones = 20 and 6

2.39 - 3 lens .and 9
ones = 30 .and 9

3.4] - &4 tens and | ones
= 40 .and |

L. 52 - 5 tens .and 2
ones = 50 .and 2

511 - | ten and | ones -
10 .and. |

BLP: Lmagining &, Nolicdng 3

Partition the followi

numbhers "

I. 321 - 3 hundreds, 2 lens
and | .one = 300, 20 .and

|

2.222 - 2 hundreds, ? fens
and 2 .ones = 200, 20
and 2

3.136 - | hundred, 3 fens, 6
ones = |00, 30 .and 6
4.269 - 2 hundred, 6 tens
and 9 .ones = 200, 60
and 9

51252 - | thousand, 2
5 fens .and 2

hundreds,
anes — 1000, 200, 50
and 2



s@E . 2, k4 6, 8 10, 2
ES f@@ 2. 15, 20, 25, 30, 35, 40
HE E 3. 40, 50, 40, 30, 20, 10
THE H

What do you notice about the numbers that are circled?
Continue the pattern.

Y

G enesere 2. The sequence is going up in counts of 3 the next numbers

3.

Complete he nurnber sequence.

ml would he 12, 15, 18

6

o |
Circle the odd one out in each nurmber pattern.

. 246801012 . 9 is the odd one out
e 0,5,10,20,30,40.._ 2. 5 is the odd one .out
« 35 30,25, 20,12,10.... 3. 12 is the odd one out

Alfie says:
If you count in 55
from any number
1

[ ey j l. Represent the multiples of 5 in .a way they know and

numbers have to

dSy this will show how counting in 5'a from rzero all the
_ numbers end in .a 5 .and O.

2.  False |4 isnt a multiple of 3 - 3, 6, 9, 12, 15, 18,
Povert 21, 24, 27, 30

True or False

| start at O and count in 3's. | say the
number 14,



LO: I can fallow a sequence.

D,CUJ q Caomplete these number saquences and awrite

the rules belaw:

1 T -

[) 0 _ 50 _ 00 _I50 _?__?_ 7
2 g o E:"E; :I:I :_[2:5 "l[!-" [ g’
200
[) 200 _ 300 _ 400 _ ? _ ? _ ?
Eole: oo EI:"I:; in 100% 500 &00
100
LO: I can order and compare 2 digit 1. Represent their 8 times tables (count on in 8’s from different numbers)
- — what do they notice? They should notice that if you start from 0 the
Sam aaya numbers are even however if you start from 1 and count up in 8’s and the
iy e numbers are odd.
) e 2. False — represent counting in 50’s from 0 and how 430 is not one of the
= o numbers you reach.
- 3. False —900 is larger than 500, counting backwards so the numbers will
n get smaller not bigger therefore would not say 900 (however would if we were

s i s counting upwards in 100’s)

Prowe it
. Yous or folas

[ atort at 0 and count in 50a. 1
will oy khe number &30,
Tous or folas

[ atort ot 500 and count
backwards in 100a. 1 awill say the
numbar 900



30+23() 40413 < Il
20414 24

Explain your answer.

28<30 False, these are both equal — they both make the
90<70 i 28 number 244 just represented differently using 10 ones
30+23=40+13 instead of 1 ten

20+ 1424

LO:I::nmdumﬂmnmeZdjqit LO: I?mmmmzw

Orcer these sets of ruunbers Tgmhmm;np,argd,,bhe

from smallest to largest following rumbers. s he
correct? Tick .or cross the

. 34, 12, 65, 4k, 23, 99
= [2,°53, 34, 4465, answers. If he was

Mrrzctmqﬁam.m .
Remember to think

2. 27, 29, 76, 33, 87, 54 wocahulary.
29733 54,76, 87 your key 4
3.19, 11, 53, 91, 43, 87 7 = 32 - dncorrect
.19, 11, 53, 9I, 43, 87 = 29 = 92 2 incorrect
I, 19, 43, 54, 87, 4I 37 = 13 - oo

L. 78, 27, 45, 89, 35, 98
= 27, 35, 45, 78, 849, 98



